
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/jsg-96-open-stand-assembly
7/4/25

JSG-96 Open Stand Assembly
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/jsg-96-open-stand-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/jsg-96-open-stand-assembly
7/4/25

Description

Index
Number Part Number Description Size Qty

1 JSG96-401 Stand Top (front and rear, short)  2

2 JSG96-402 Stand Top (left and right, long)  2

3 JSG96-403 Stand Leg w/Tool Holder  2

4 JSG96-404 Stand Leg  2

5 JSG96-405 Carriage Bolt* 5/16x5/8 16

6 JSG96-406 Lock Nut w/Flange* 5/16 16

7 JSG96-407 Leveling Pad*  4

8 TS-0561031 Hex Nut* 3/8 13

9 TS-0680041 Flat Washer* 3/8 17

10 TS-0060131 Hex Head Screw* 3/8x3 4

11 JSG96-314 Tool Shelf  1

12 JSG96-316 Flat Washer* 3/8x1-1/8 1

13 TS-0060031 Hex Head Screw* 3/8x3/4 1

14 TS-0720091 Lock Washer* 3/8 4

Additional Information

Stock Number 708595-3

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/jsg-96-open-stand-assembly

